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Instructions for the Candidates

1. Write your roll number in the space provided on the top of
this page.

2. This paper consists of sixty (60) multiple-choice type of
questions, out of which the candidate would be required to
answer any fifty (50) questions. In the event of the candidate
attempting more than fifty questions, the first fifty questions
attempted by the Candidate would be evaluated.

3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the paper

seal / polythene bag on the booklet. Do not accept
a booklet without sticker-seal / without polythene bag
and do not accept an open booklet.

(i) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Code
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.
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where (C) is the correct response.

5. Your responses to the items are to be indicated in the OMR

Sheet given inside this Booklet, which is common for

Paper I and Paper I1. If you mark at any place other than in

the circle in the OMR Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space

allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There is no negative marks for incorrect answers.
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Paper — |
agaA - |
This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.

In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will

frefafed & @ =9 @ o= ey
TS T (THUA.T,) HHS o AR forn
T §?

(A) 3, SHeE, Frem=2ed 3T

7% feoett ; UAfed gier 3iih gfea,
2005
&, TS, Hrem=ed 3H

EGERRCN
% feoett ; UAfed BT 31 St
2005

(B)

(©)

&, SHeS, Hrem=ed 3H

EGEFECN

TE oot — UATeT BieT 211 Sre,
2005

B, BHTeS, Frem=od 3%

AT,
T2 feoett ; DMfeT &er 31 <fe,
2005
T HETAT 8l &
(A) Topdt fawg o3 ==l & felt gee T |
(B) Tt fowg w ==t & o oiesh |

(C) fopdl whicisT o favaiaemerd § e,
ST 3 A femnel fomdt foor
W A E |

TH BIE P & U dea T
rTsRe e foht fowe auan &
FHYE & [T 9wl a1 dehleh &
forepra W ot g T B |

FHEHRI UTFhedT el &

(A) et T & feTe TmTioTd TTeRhedT

(B) Tteror 37uferd & |

(C) 3 3R 21 ¥y & oW emHfam
Y I W WEFRedT |

(D) U S faaT |

(D)

(D)

Note: e
¢ Candidate is expected to answer any Fifty (50) questions.
be evaluated.
A o THULATT H W6 (60) TEfashedid UeE € | U U9 At (2) FFE |
o 3T I IS Ff T (50) U IWIAE |
o A T= (50) | 21 UvAT o 3R 57 aF uud a=n (50) U & S S |
1.  Which one of the following references 1.
is written as per Modern Language
Association (MLA) format ?
(A) Hall, Donald. Fundamentals of
Electronics,
New Delhi : Prentice Hall of
India, 2005
(B) Hall, Donald, Fundamentals of
Electronics,
New Delhi : Prentice Hall of
India, 2005
(C) Hall, Donald, Fundamentals of
Electronics,
New Delhi — Prentice Hall of
India, 2005
(D) Hall, Donald. Fundamentals of
Electronics.
New Delhi : Prentice Hall of
India, 2005
2. A workshop is 2
(A) a conference for discussion on a '
topic.
(B) a meeting for discussion on a
topic.
(C) a class at a college or a
university in which a teacher
and the students discuss a topic.
(D) a brief intensive course for a
small group emphasizing the
development of a skill or
technique for solving a specific
problem.
3. A working hypothesis is 3.
(A) a proven hypothesis for an
argument.
(B) not required to be tested.
(C) a provisionally accepted
hypothesis for further research.
(D) ascientific theory.
W-00 3
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Read the following passage carefully and answer the questions (4 to 9) :

The Taj Mahal has become one of the world’s best known monuments. This domed white
marble structure is situated on a high plinth at the southern end of a four-quartered garden,
evoking the gardens of paradise, enclosed within walls measuring 305 by 549 metres. Qutside
the walls, in an area known as Mumtazabad, were living quarters for attendants, markets, serais
and other structures built by local merchants and nobles. The tomb complex and the other
imperial structures of Mumtazabad were maintained by the income of thirty villages given
specifically for the tomb’s support. The name Taj Mahal is unknown in Mughal chronicles, but
it is used by contemporary Europeans in India, suggesting that this was the tomb’s popular
name. In contemporary texts, it is generally called simply the Illuminated Tomb (Rauza-i-
Munavvara).

Mumtaz Mahal died shortly after delivering her fourteenth child in 1631. The Mughal
court was then residing in Burhanpur. Her remains were temporarily buried by the grief-
stricken emperor in a spacious garden known as Zainabad on the bank of the river Tapti. Six
months later her body was transported to Agra, where it was interred in land chosen for the
mausoleum. This land, situated south of the Mughal city on the bank of the Jamuna, had
belonged to the Kachhwaha rajas since the time of Raja Man Singh and was purchased from
the then current raja, Jai Singh. Although contemporary chronicles indicate Jai Singh’s willing
cooperation in this exchange, extant farmans (imperial commands) indicate that the final price
was not settled until almost two years after the mausoleum’s commencement. Jai Singh’s
further cooperation was insured by imperial orders issued between 1632 and 1637 demanding
that he provide stone masons and carts to transport marble from the mines at Makrana, within
his “ancestral domain”, to Agra where both the Taj Mahal and Shah Jahan’s additions to the
Agra fort were constructed concurrently.

Work on the mausoleum was commenced early in 1632. Inscriptional evidence indicates
much of the tomb was completed by 1636. By 1643, when Shah Jahan most lavishly celebrated
the “Urs ceremony for Mumtaz Mahal’, the entire complex was virtually complete.

4. Marble stone used for the construction of the Taj Mahal was brought from the ancestral
domain of Raja Jai Singh. The name of the place where mines of marble is

(A) Burhanpur (B) Makrana
(C) Amber (D) Jaipur
5. The popular name Taj Mahal was given by
(A) Shah Jahan (B) Tourists
(C) Public (D) European travellers

6. Point out the true statement from the following :
(A) Marble was not used for the construction of the Taj Mahal.
(B) Red sand stone is non-visible in the Taj Mahal complex.
(C) The Taj Mahal is surrounded by a four-quartered garden known as Chahr Bagh.
(D) The Taj Mahal was constructed to celebrate the ‘Urs ceremony for Mumtaz Mahal’.

7. In the contemporary texts the Taj Mahal is known

(A) Mumtazabad (B) Mumtaz Mahal
(C) Zainabad (D) Rauza-i-Munavvara
8. The construction of the Taj Mahal was completed between the period
(A) 1632 -1636 A.D. (B) 1630-1643 A.D.
(C) 1632-1643 A.D. (D) 1636 -1643 A.D.
9. The documents indicating the ownership of land, where the Taj Mahal was built, known as
(A) Farman (B) Sale Deed
(C) Sale-Purchase Deed (D) None of the above
W-00 4
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fAfeiad ST=% i WEEH! ¥ U 3 U9 4 ¥ 9 T 1 I JINT

TeHee foed & A Garay TR § § Uh © | Ths GO % =g H1 I8 &l IR bR Ini
% TRV B’ T U Tl W & € 1 305 x 549 HieT A9 i SR & e a9 F N S~Id o & |
TAATSTETE A &5 § JIaRT % STe ATl o Yo & a1y, SR, T 3T TIH- SATE 3T
ST AT RT ST TS 37T S 371TS & | THASTEIE o Tes IRET 3T 37 91Tl el o SE-9T,
TR W WEEdl & AU ey €9 9 KU 70 G Tat S E 9 H S 9 | e e H arsHed
T N Sooid Tél €, AT ST UGN WRA o Feshlel I AT+ fehar o | Seh et ot s =
W TR T TG AT A7 | Akl Qi TS B ATRId: 39 heet eI TS (STT-U-HHEET)
e T o |

¥ 1631 § 310 HIged e Hl ST o o 915 &1 GAAN Hecl H 9o & T8 oA | el SER a9
FEER | o7 | Ih-HA TR = S I Tl AN 8l o [N (T SeA1ag Aeh foemet anT |
THATAT o1 | BT HIE A% 34 919 i TR AR 7T, STet Hehelk o ol o &l T THA H 38 %A
T | A€ SHF AT A8 & AR I e 9T & SRI0T | Fd off | g7 STHE ST 9FeE % 99 9
FHDATE IS i o 3T Teehrel T STafdg ¥ TRIST TE ot | ETeAiToh dehleti= SIqaTashRI -+ $9 a1
Iooi fopan € fop sTafle 3 @1 @ 98 937 fopan o, oo Sueted SAMT (T 3AR3T) § Ual =erdl
T 1% g S H &1 FE IE BT TH F AN S 99 o ff oifqw wina 99 @l 8 Ui o,
STARTE T 3R TEANT a9 1632 3R 1637 o &g SIRY T T 37 I M o SINT FrAreee foam 7
o1, 8 AT e o T 9 310 “gast it KA % 38T U Aol HeRdHT S @Hl ¥ PRI aF
TS SR TTERAT o ST aTell SonTiedr Jear HIam, Sei deHed 3R TN & fhel 1 Imestel
ERT feRal ST et uiae Heelt fuTor-shd |re-are foham S <er o |

T e 1 B T4 1632 & AR H Y& 61 7 o | foifad Heet ¥ udr getan ¢ fo siteenier
TS I 1636 T Y & AT AT | T9 1643 H ST IMESTel § AN Heol H1 39 FHRIE 95 g9-am 9
T 9, e TYOT URET aRce H R & T T |

4, dSTHE % U0 % TIT YRINT foRaT ST arelr ATeiet UeeR XIS STardg @i dge Ramad | @@
AT | 3T LI H1 AW ST 16 ol G UTE AT &, F & 2

(A) TEAR (B) #ehTE
(C) am=R (D) AR
5. UEieId A9 dreTHEe fohdeh gIRT T T o 2
(A) TESTEl (B) udeahi _
(C) SFar (D) FRift =t

6. FfaIfEd o & el 5 F 918 2
(A) TATAY F1 TN AHEe & AT 3 ferg 2t fepam o |
(B) TISTeet TNER W {gd-e Too femas el ST § |
(C) dO~Med % AR 3R “OR ST AT TR-TR a1 € |
(D) dISTHES T HHETT AT Fee & (o0 ‘36 GHRIE A & feIw foma T o |

7. TUFHAN U H ASTHEA {69 A I ST ST 8 2

(A) THrSTETS (B) HHawT HEe
(C) S (D) eT-T-TeE
8. TSt I HHTT FE fhe staty |/ R foar A ot 2
(A) 1632-1636 TSN (B) 1630-1643 TS,
(C) 1632-1643 TS, (D) 1636-1643 TE.
9. ANTHES % 10T i 4 % wiHed Fadl yei@l i e ©
(A) ®EHA (B) fasra facim
(C) fospa-spa foor@ (D) W | ¥ HIE
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10.

11.

12.

13.

14.

15.

16.

In the process of communication,

which one of the following is in the

chronological order ?

(A) Communicator, Medium,
Receiver, Effect, Message

(B) Medium, Communicator,
Message, Receiver, Effect

(C) Communicator, Message,
Medium, Receiver, Effect

(D) Message, Communicator,
Medium, Receiver, Effect

Bengal Gazette, the first Newspaper
in India was started in 1780 by

(A) Dr. Annie Besant

(B) James Augustus Hicky

(C) Lord Cripson

(D) A.O.Hume

Press censorship in India was imposed
during the tenure of the Prime Minister
(A) Rajeev Gandhi

(B) Narasimha Rao

(C) Indira Gandhi

(D) Deve Gowda

Communication via New media such
as computers, teleshopping, internet
and mobile telephony is termed as

(A) Entertainment

(B) Interactive communication

(C) Developmental communication
(D) Communitarian

Classroom communication of a
teacher rests on the principle of

(A) Infotainment

(B) Edutainment

(C) Entertainment

(D) Enlightenment

is important when a teacher
communicates with his/her student.
(A) Sympathy
(B) Empathy
(C) Apathy
(D) Antipathy

In a certain code GALIB is
represented by HBMJC. TIGER will
be represented by

(A) UJHFS ~ (B) UHJSF
(C) JHUSF (D) HUJSF
W-00

10.

11.

12.

B

14.

15.

16.

TuuuT Uik H Fefated § § &
HTAHATAR &

(A)  Huiven, T, REET, T, g
(B) TTeEm, Tyueh, T9T, RdieR, mre
(C) i, =1, Wread, e, e

(D) @<, Tuweh, Aqread, e, e

ORA T TIH EEIR S TSiE 1780 H
s SR 3TR™T Tohar 74T 2

(A) =i T aEe
(B) <itg 3imed fewni

(C) e T

(D) uwat. 7w

ORA H U9 SN g o= & 99
AT i T 2

(A) TSI e

(B) Ri&eT @

(C) sf=x et

(D) Teirer

quU mem S8 T eEey,  Cferwi,
T 3 A SRl o AT |
HUYOT S FRd

(A) TARSH

(B) == fopam |owor

(C) faeprTeHes TywoT

(D) FHHRIA

Tt T91e7er =T ReTT § WUOOT T T
W ST BT € 2

(A) THRAET

(B) T

(C) TARSH

(D) wHIA

Toreter STe7 270 Toramell o ey |U9oT KT
gd@  mEedyuiEdne |

E/E?; LRI

(C) S

(D) fogw

wa @ ¥ HBMJC, GALIB i
g #ar & | TIGER % 31T
T gl g 2
(A) UJHFS
(C) JHUSF

(B) UHJSF
(D) HUJSF
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17.

18.

19.

20.

21.

22.

In a certain cricket tournament 45
matches were played. Each team
played once against each of the other

teams. The number of teams
participated in the tournament is

(A) 8 (B) 10

C) 12 (D) 14

The missing number in the series
40, 120, 60, 180, 90, ?,135is
(A) 110 (B) 270

(C) 105 (D) 210

The odd numbers from 1 to 45 which
are exactly divisible by 3 are arranged
in an ascending order. The number at
6" position is

(A) 18 (B) 24

(C) 33 (D) 36

The mean of four numbers a, b, c, d is
100. If ¢ = 70, then the mean of the
remaining numbers is

(A) 30

© *

® 2

(D) 110

If the radius of a circle is increased by
50%, the perimeter of the circle will
increase by
(A) 20%
(C) 40%

(B) 30%
(D) 50%

If the statement ‘some men are
honest” is false, which among the
following statements will be true.
Choose the correct code given below :
(i)  All men are honest.

(i) No men are honest.

(ili) Some men are not honest.

(iv) All men are dishonest.

Codes :

(A) (i), (i) and (iii)

(B) (i), (iii) and (iv)

(C) (i), (iii) and (iv)

(D) (ii), (i) and (iv)

W-00
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18.

19.

20.

21.

22.

. Tt Torehe wer ufqaifar 9 45 99 @
T | Y 3 3 U 3T 29 & T
T 9R Tl | T UGaiTar § 90T o
el ST St S €

(A) 8 (B) 10

C) 12 D) 14

=T Sfen # faora 9 o 9 8 2
40, 120, 60, 180, 90, ?, 135

(A) 110 (B) 270

(C) 105 (D) 210

1 ¥ 45 % Ft 37 fouq St &, 5 3
Y foniiTer 1, Ueh TR ShH | W@ T E |
ST YT S 6 TR SR, STeh! W €
(A) 18 (B) 24

(C) 33 (D) 36

a, b, ¢, d I) HEATeT % "Arew 100 € |
g ¢ = 70 €, A T ST HT AT T
BT 9

85
(A) 30 ® %
(©€) %O (D) 110
I ek g 1 BT 50% O e STl &
a1 39 g 1 uRTY fmg T qe se 2
(A)  20% (B) 30%
(C) 40% (D) 50%

Iig TE M T “Fo Al THFIR
B9 2" 9T ¢ of efafad 4 | i @
AN T B | A U T W@l wie
1 TIT HIT

() ot AR RN A €

(i) I i Al THFER el i |
(ili) TS FAK TR el eIl & |

(iv) T A SEAF A € |

HT

(A) (i), (if) 3R (i)

(B) (i), (iii) 3 (iv)

(C) (i), (iif) 3 (iv)

(D) (i), (i) 3R (iv)
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23.

24.

25.

26.

27.

Choose the proper alternative given in
the codes to replace the question
mark.

Bee — Honey, Cow — Milk, Teacher —?
(A) Intelligence (B) Marks

(C) Lessons (D) Wisdom

P is the father of R and S is the son of
Q and T is the brother of P. If R is the
sister of S, how is Q related to T ?

(A) Wife

(B) Sister-in-law

(C) Brother-in-law

(D) Daughter-in-law

A definition put forward to resolve a
dispute by influencing attitudes or
stirring emotions is called

(A) Lexical (B) Persuasive
(C) Stipulative (D) Precisions

Which of the codes given below

contains only the correct statements ?

Statements :

(i) Venn diagram is a clear method
of notation.

(i) Venn diagram is the most direct

method of testing the validity of

categorical syllogisms.

In Venn diagram method the

premises and the conclusion of a

categorical syllogism is

diagrammed.

In Venn diagram method the

three overlapping circles are

drawn for testing a categorical

syllogism.

Codes :

(A) (), (i) & (iii)

(B) (i), (ii) & (iv)

(C) (i), (iii) & (iv)

(D) (i), (iii) & (iv)

Inductive reasoning presupposes

(iii)

(iv)

(A) unity in human nature
(B)
(®)

(D) harmony in human nature

integrity in human nature
uniformity in human nature

W-00
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23.

24,

25.

26.

217.

7o o % =M W wie ¥ fTr mu st
Torehea BT =T Y

TYAFRE! — IS, M — T, To1eteh — 2
(A) dfgHwR (B) 3%

(C) ue (D) EE

PRFEMTENNRS, QFTE T,PH
TMET AR, SHGEATHQH T A
o Ry & 2
(A) Tt
(B) ot
(C) e
(D) Ty
TIER I T H IT TS
Jpfeld A & SIRT fRd foag @

HHTL AT e &

(A) ImEH (B) TS
(C) waMtaa (D) wfeTeeRToT
T U T B A Fie FEr AR I
A E

arfiepe

(i) oF NG T ot Tee fafr & |
(i) o9 M@ FUMYs =Ee %
AT GLETOT Tt FaAlTereh Ueaet oty
Tl

AT oM@ fafy H smeimre R
Trewles =Eee & et @
MG fopar ST € |

a omm fafw #  frewtw
TEEE % W & few dF
AT g ST S & |

HIE

(A) (). (i) 3R (i)

(B) (i), (i) 3R (iv)

(C) (i), (iii) 3 (iv)

(D) (i), (iif) 3 (iv)

NI T Frfetiad § ° foheehr
ETAE &

(A) TG EIE § T

(B) UM @y | T T

(C) = @Yd | THETdT

(D) HHE @ H dreTs

(iii)

(iv)
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Read the table below and based on this
table answer questions from 28 to 33 :
Area under Major Horticulture Crops

in lakh hectares)

Year |Fruits|Vegetables|Flowers| Total
Horti-
culture
Area
2005-06| 53 72 1 187
2006-07| 56 75 1 194
2007-08| 58 78 2 202
2008-09| 61 79 2 207
2009-10| 63 79 2 209

28.

29.

30.

31.

32.

33.

Which of the following two years
have recorded the highest rate of
increase in area under the total
horticulture ?

(A) 2005-06 & 2006-07

(B) 2006-07 & 2008-09

(C) 2007-08 & 2008-09

(D) 2006-07 & 2007-08

Shares of the area under flowers,
vegetables and fruits in the area under
total horticulture are respectively :

(A) 1,38 and 30 percent

(B) 30, 38 and 1 percent

(C) 38, 30and 1 percent

(D) 35, 36 and 2 percent

Which of the following has recorded
the highest rate of increase in area
during 2005-06 to 2009-10 ?

(A) Fruits

(B) Vegetables

(C) Flowers

(D) Total horticulture

Find out the horticultural crop that has
recorded an increase of area by around
10 percent from 2005-06 to 2009-10
(A) Fruits

(B) Vegetables

(C) Flowers

(D) Total horticulture

What has been the share of area under
fruits, vegetables and flowers in the area
under total horticulture in 2007- 08 ?

(A) 53 percent (B) 68 percent
(C) 79 percent (D) 100 percent

In which year, area under fruits has
recorded the highest rate of increase ?

(A) 2006-07  (B) 2007-08
(C) 2008-09 (D) 2009-10
W-00
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e <t T GROM T U@ 3R UeT 28 ¥ 33 dF

FIWT |
T ATTET Gt & ST e
(TG TR 1)
ay % | |iewat FA
* EINGIE
GERTY
2005-06 | 53 | 72 1 | 187
2006-07 | 56 | 75 1 | 194
2007-08 | 58 | 78 2 | 202
2008-09 | 61 | 79 2 | 207
2009-2010 | 63 | 79 2 | 209
28. THffEd ® | T &1 ot H et arme
% el Bl H ST g 5T 391 ol TS ;

29.

30.

31.

32.

33.

(A) 2005-06 3T 2006-07
(B) 2006-07 3fX 2008-09
(C) 2007-08 3T 2008-09
(D) 2006-07 3T 2007-08

Tl SNEHI o STt el H e,
Tledl 3R WAl & AT & H 9§ —
EZE

(A) 1, 38 3 30 ufawr
(B) 30, 38 31 1 ufawr
(C) 38,30 3R | ufaer
(D) 35, 36 3R 2 ufawE

F 2005-06 ¥ 2009-10 5 TR STHA F
frfefad & @ f5q o Soaaw gfg ST 3t
TS 2

(A) ®

(B) Hfssrat

(C) w1

(D) et STTEHT

Y 2005-06 ¥ 2009-2010 TF fHH
T A o 3T SAFA T T
10 TTeT i Ifg 35T g8 & 2

(A) ®

(B) Hfssrat

(C) et

(D) F aEETE!

Y 2007-2008 H FA IEEHT & SR
SAReT | Hell, Qiosral 3K Fell & &

T AT E 2

(A) s53ufaed (B) 68 UideId

(C) 79wfae@ (D) 100 WfaeTd
fore ad Fell o &% H STaad kg 3
TS B TE ?

(A)  2006-07 (B) 2007-08

(C) 2008-09 (D) 2009-2010

P.T.O.
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34.

35.

36.

37.

38.

39.

‘www’ stands for

(A)  work with web
(B) word wide web
(C) world wide web
(D) worth while web

A hard disk is divided into tracks
which is further subdivided into

(A) Clusters

(B) Sectors

(C) Vectors

(D) Heads

A computer program that translates a
program statement by statement into
machine language is called a/an

(A) Compiler

(B) Simulator

(C) Translator

(D) Interpreter

A Gigabyte is equal to
(A) 1024 Megabytes
(B) 1024 Kilobytes
(C) 1024 Terabytes
(D) 1024 Bytes

A Compiler is a software which

converts

(A) characters to bits

(B) high level language to machine
language

(C) machine language to high level

language

(D) words to bits

Virtual memory is
(A) an extremely
memory.

an extremely large secondary
memory.

an illusion of extremely large
main memory.

a type of memory used in super
computers.

large  main
(B)
©)

(D)

W-00
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34.

35.

36.

37.

38.

39.

g5 T o]’ ATdd §
(A) & fog am
(B) @S arEod
(C) dee e oa
(D) o =TeA o

s gre fewh ¢ | foenifora gt &, 5
e o @R st foeam s &
(A) Fo=d
(B) dTwed
(C) d%d
(D) &=H

U HegeX e, StofRdl wwm e
FHTT IR AL T | 3R Xl ¢,
39 FRd €

(A) HUEFR

(B) feeiex

(C) g=weiX

(D) T=TX

U fiTeTEe fefefiad o sRET 8l ©
(A) 1024 FETEed

(B) 1024 fwairarzen

(C) 1024 xamseq

(D) 1024 Sreed

FHEOR U A GO gl €, S
fefertad aierd sear €

(A) TFeg ¥ faeg

(B) =0 WRIF AT ¥ TR 9o

(C) HRIT 9T & $oaf Tl 9o

(D) =<w @ fazm

IreTereR HOT &

31t farega g Bk

31t foreger Suser Ay

3t T e Bt 1 9

TR F TH TR, T 3T

g HHX § foHaT S & |

(A)
(B)
(©)
(D)
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40.

41.

42.

43.

44,

The phrase ‘tragedy of commons’ is
in the context of

(A) tragic event related to damage
caused by release of poisonous
gases.

tragic conditions of poor people.

degradation of renewable free
access resources.

climate change.

(B)
(©)

(D)

Kyoto Protocol is related to
(A) Ozone depletion

(B) Hazardous waste

(C) Climate change

(D) Nuclear energy

Which of the following is a source of
emissions leading to the eventual
formation of surface ozone as a
pollutant ?

(A) Transport sector

(B) Refrigeration and Airconditioning
(C) Wetlands

(D) Fertilizers

The smog in cities in India mainly
consists of

(A) Oxides of sulphur

(B) Oxides of nitrogen and unburnt
hydrocarbons

Carbon monoxide and SPM
Oxides of sulphur and ozone

(©)
(D)

Which of the following types of
natural hazards have the highest
potential to cause damage to humans ?

(A) Earthquakes

(B) Forest fires

(C) Volcanic eruptions
(D) Droughts and Floods

W-00
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40.

41.

42.

43.

44,

“3Y SAfHRTAT Sl AR FHead 7= § F
fopeeh T 7 7 2

(A) SEdel T %o % BRUT gU
THAE | Gad 38 FeT

TS AT @l 3T et
FATHRONT F.3[ch SUcTed GaTeHt
& &

STeraryg uRad

(B)
(©)

(D)

Il H|d|°bv|C’i F*HH W%r’

(A) 3T 3T

(B) WA URTE

(C) Siotary uRaxd

(D) AR St
ffeiad 5 ¥ g 3TiSiA & 950 &

T G GIfad faemT o1 Scae g S
qE?

(A) uREeT &=

(B) wrEile SR ST
(C) dewied

(D) e

YR o I A 47 H g et e &

(A) TR & IATFIESH

(B) FTEISH & IHTRIREH SR ST
RESEZER!

(C) e HiHTAES X TH.U1UA.

(D) o & ATFETES AN A

fraffed § ¥ 69 TSR % WA

TR ¥ AT H THAE UgaH Hl GaH
31 T &Il € 2

(A) P

(B) SieT ¥ 3T

(C) oGl ST

(D) 3THTeT 2R g
P.T.O.
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45.

46.

47.

48.

The percentage share of renewable
energy sources in the power
production in India is around

(A) 2-3% (B) 22-25%

(C) 10-12% (D) <1%

In which of the following categories
the enrolment of students in higher
education in 2010-11 was beyond the
percentage of seats reserved ?

(A) OBC students

(B) SC students

(C) ST students

(D) Woman students

Which one of the following
statements is not correct about the
University Grants Commission (UGC) ?
(A) It was established in 1956 by an
Act of Parliament.
(B) It is tasked with promoting and
coordinating higher education.
(C) It receives Plan and Non-Plan
funds from the  Central
Government.
It receives funds from State
Governments in respect of State
Universities.

(D)

Consider the statement which is
followed by two arguments (1) and
(-
Statement : Should India switch
over to a two party
system ?
Arguments : (I) Yes, it will lead

to stability of

Government.

(1) No, it will limit the

choice of voters.
Only argument (1) is strong.
Only argument (I1) is strong.
Both the arguments are strong.
Neither of the arguments is
strong.

(A)
(B)
(C)
(D)

W-00
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45.

46.

47.

48.

IRT ¥ foea IET H TFaeong S
AT T AT T &

(A) 2-3% (B) 22-25%

(C) 10-12% (D) <1%

aq 2010-11 | 3=a BT § = 7 ¥ fHq
gUi & fo=mtrEr & Amie feiRd
ARTEIT AoT & wfaerd & 2Afaes o 2

(A) = fuser i o foemet

(B) 3Fgraa STt o feremelt

(C) 3rIgrad SHsa o faemedt

(D) wfee foremeft

fovafaere™ STRH oMM &% Ty H
frfefiad & & &F o1 Uh HoH I Tél
g7

(A)

T 1956 | WES & UH AUHIH
SR AU foham T e |

34 =9 f31en i S 3R a9
1 B GO T |

T T TWHN I s 3K 1

T T T g & |

g Tovafaame™t & fow 38 T

WHRT 9 T ure g €

FfefEd e W foar X e gey

T8 a% (1) AR () Re e

FHU ;. FT IR B GA Fgid ST AT
T 2

aw: (1) @ T/ WHER H ferd

|

(1) &, QY AASTel & T9=<
e & S |

et deh (1) Tt & |

FHeA d (I1) T & |

THT T TS € |

T H § IS 7 TEl el ¢ |

(B)

(©)

(D)

(A)
(B)
(©)
(D)
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49.

50.

5l

Consider the statement which is

followed by two arguments (1) and

(-

Statement : Should persons with
criminal background be
banned from contesting

elections ?
Arguments : (I) Yes, it will
decriminalise politics.
(I No, it will
encourage the
ruling party to file
frivolous cases
against their

political opponents.
Only argument (1) is strong.
Only argument (I1) is strong.
Both the arguments are strong.
Neither of the arguments is
strong.

(A)
(B)
(©)
(D)

Which of the following statement(s)
is/are correct about a Judge of the
Supreme Court of India ?

1. AJudge of the Supreme Court is
appointed by the President of
India.

2.  He holds office during the
pleasure of the President.

3. He can be suspended, pending
an inquiry.

4.  He can be removed for proven
misbehaviour or incapacity.
Select the correct answer from the

codes given below :

Codes :

(A) 1,2and3 (B) 1,3and4

(C) 1and3 (D) land4

In the warrant of precedence, the
Speaker of the Lok Sabha comes next
only to

(A) The President

(B) The Vice-President
(C) The Prime Minister
(D) The Cabinet Ministers

W-00
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49.

50.

51.

fr=fefad wom qen fgu 7w a5 (1) iR
(1) T foram =

FHAT . T RIS JYH & AT
FH FAE H 9N o W Afaey
T AT 2

q®: (1) & J€ IeET & STIRTeRIor
i |

(1) &1, Ta9 fad I B 3T
oA foRitvar & foog
q= HIHAT Thilgel oA ﬁ

TicaTe ferT |
Faet d (1) ¥ € |
et e (1) ueet & 1
THT T U € |
TN H F i off TH Tt T ¢ |

(A)
(B)
(©)
(D)

Od o ITUdH I & R o

Hay 4 frefafad 9§ 9 &9 9 31fveme

qIE?

1. oA <A % IR i e
AR & AT FRT I STt & |

2. & UL & YO TSN US RO
FATE |

3. fordlt off Sitg & oifted ®S d% 39

eAfierer fopan ST FeheT & |
4. 39 3HTER Tag BH A FHM &
HROT &A1 ST FhelT € |
iﬁqwaﬁg@aﬁwaﬂwaﬁﬁq:
(A) 1,233 (B) 1,334
(C) 133 (D) 134
TEAT YT T AR 3TeAeT gk o
AT 2
(A)  Treaf
(B) Swrezufa
(C) wem=est
(D) Hfeme T

P.T.O.
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52.

53.

54,

55.

56.

The black-board can be utilised best
by a teacher for

(A) putting the matter of teaching in
black and white

making the students attentive

writing the important
notable points

highlighting the teacher himself

(B)
(©)

and
(D)

Nowadays the most effective mode of
learning is

(A) self study

(B) face-to-face learning
(C) e-learning

(D) blended learning

At the primary school stage, most of the
teachers should be women because they

(A) can teach children better than
men.

know basic content better than
men.

are available on lower salaries.

can deal with children with love
and affection.

(B)

(©)
(D)

Which one is the highest order of
learning ?

(A) Chain learning

(B) Problem-solving learning
(C) Stimulus-response learning
(D) Conditioned-reflex learning

A person can enjoy teaching as a
profession when he

(A) has control over students.
(B) commands respect from students.

(C) is more qualified than his
colleagues.
(D) is very
authorities.

close to higher

W-00
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52.

53.

54.

55.

56.

ot g =ik SIS H GawH SuInT
foraeh fore fepan ST € 2

(A) Toreror @it #F vad-vEaM w9 OH
o |

(B) fomnforat st wehmr-fomt ST |
(C) Teaqul T SeeiEa forg forem |
(D) ToreTe 5T T I USRI LT |

T H 3T Bl STeTH Tl fafy &
(A) . reaa

(B) 3THH-AMA 3TeRH

(C) EFm

(D) THiya stz

e faRer™ & TR UT 3Tfeha? f¥reTs

HiEeTd g1 =fey it of

(A) Tl Bl TEE § dEe el Tl & |

(B) &6 ¥ WEk U foama g% H
SR BT € |

(C) 8 I W ST &l Sl € |

(D) =di ¥ OR 3R T ¥ SR H
Tl € |

3T HT I TR B 9T & ?
(A) ST 37T

(B) HHE-THM 3T
(C) SEITA-3TfhaT ereaas
(D) HII-Udar 3Teara

U Al TR B FeEE & w9 OH
YT ST BT €, 5T

(A) T Taenféat w Fa=oT E |
(B) Toenfémi @ 31mex U R € |

(C) 37U TeAIfTa i 31Ut fereh I
BATE |

(D) == mikekRa o g T Bl & |
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57.

58.

59.

60.

“A diagram speaks more than 1000
words.” The statement means that the
teacher should

(A) use diagrams in teaching.

(B) speak more and more in the
class.
€

use teaching aids in the class.
(D) not speak too much in the class.

A research paper

(A) is a compilation of information
on a topic.

(B) contains original research as
deemed by the author.

(C) contains peer-reviewed original

research or evaluation of

research conducted by others.

can be published in more than

one journal.

(D)

Which one of the following belongs to
the category of good ‘research ethics’ ?
(A) Publishing the same paper in
two research journals without
telling the editors.

Conducting a review of the
literature that acknowledges the
contributions of other people in
the relevant field or relevant
prior work.

Trimming outliers from a data
set without discussing your
reasons in a research paper.
Including a colleague as an
author on a research paper in
return for a favour even though
the colleague did not make a
serious contribution to the

paper.

(B)

(©)

(D)

Which of the following sampling
methods is not based on probability ?

(A) Simple Random Sampling
(B) Stratified Sampling

(C) Quota Sampling

(D) Cluster Sampling
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S57.

58.

59.

60.

“ueh @i H 1000 ¥ 31tk % Mfed
e & 1" 2qeht AT ¥ o f¥reres =
(A) e 9T Y@ITEE T AT
MW |

1T | 37Tyeh ¥ AR ST T1eT |
T H RRULSTROT w1 wE
AT AT |

FRIT | 3TTes FEl ST =@y |

(B)
(©)

(D)

T IMY I

(A) Todt fomg ©@ gemst w1 Foher
TATE |

TEH FRT TFT T g oy e

BATE |

Uit TR TeT Y AT 3T

ERT T T MY 1 GoAieh Hied

TATE |

UH d Afys ubtrRett H weRird

fopan ST AT ¥ |

fefafed 4 @ &9 4@ = ‘WY
Afcehar wl Fo § Hetd € ?

(A) TEEH H FAT FR TH & WY

(B)
(©)

(D)

U3 I S MY UERRT H e
AT |

(B) ifeca st THieT e fSad da
&7 & T Alddl a1 W gol
AT & AN & |

(C) Tl vy & oo bl WX ==
fow for & ihel 9@ W@ &I
AN FHEAT |

(D) viuws # fopdt off geart = Sad
FT e U T @S F T H
IMHA HAT 9 & ST Te&d |
Y- § g 921 IeF 7 KA el |

frefeiaa ufqest gonferat & @ == @t

HHTEIAT UT U T8l ¢ 2

(A) T AGeeH U=t

(B) Tag Ufdsel

(C) =i ufeesr

(D) & wferset
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